=_RCIl OFFROAD_ X\

RCI 14-21 Toyota Tundra - Front Bumper Install Guide

NEM | PART NUMBER DESCRIPTION QY.
14-21 Tundra Frant
1 SM-00443 Bumper 1
Toyola Bumper Panel
2 HW-00058 Plugs 2
P12 x1.25 x40mirm
3 HW-00057 Flanged Hex Baolt 4
4 HW-00022 1/2" Washer 4
07-21 Tundra Power
5 HW-00040 Steering Relocation 2
Brackel
(5 HW-DGG<57 5}[.' 6 % 3‘“1 CUlriGgD BO” 2 UNLESS OTHERW EE SPECIFIED: FROPRIETART AMND COMFIDEMTLAL — \._J-l.:iﬁ ::'
THE 4 M
Export Dale
5716 USS FLAT WASHER
7 HW-00037 IINC 2 11/20/2023
RCI OFFROAD
8 HW-00062 5/16-18 Nylock Nui 2 TITLE:
14-21 Tundra Front Bumper Install Guide
@ HW-00028 Full Moon Spacer 4 REV
tem Mumber N
Hardware ]
D0 RT SCALE DRAWING SCALE: 1:43 WEKSHT: SHEET 1 OF 1

Figure 1:BOM




=_RCl OFF ROAD_X~\
INSTALLATION STEPS:

**Use hand tools, impact wrenches may cause damage if over torqued.**

1) Begin by unpacking and removing all components and hardware. Please verify that all
hardware and mounting components are present. Reference your original order invoice and
verify all items are accounted for.

2) Remove the plastic trim on the inner fenders of the vehicle.

a. Remove the screws and clips holding the liner to the bumper and remove the liner to
access the fog light and parking sensor wiring.

Figure 2



=_RCIl OFFROAD_ X\

Figure 3

3) Disconnectthe fog lights and the parking sensor wiring.




=_RCIl OFFROAD_ X\

4) Remove factory grille.
a. Remove the 4 screws on the top of the grill along with the two trim clips on each side.
b. Disconnect ACC sensor if applicable.
c. After removing the hardware, the grille will only be held on by clips. Pull on the sides of
the grille to release it from the vehicle.




=_RCIl OFFROAD_ X\

6) Remove the bumper from the vehicle.
a. Remove the 8 nuts securing the bumper (4 per side).

7) Once all the hardware is taken off the bumper can be removed and set aside.

8) If the vehicle is equipped with parking sensors, they need to be removed from the OEM
bumper and re-installed in the RCI bumper before proceeding.

a. Remove the parking sensors from the bumper by disconnecting them and taking out the
white retaining clip.
i. Save the white retaining clip for installation on the RCI bumper.
b. Remove the parking sensor wiring harness and set it aside.



=_RCIl OFFROAD_ X\

Save White
retaining clip.

9) Install the parking sensorinto the RCI bumper.
a. Feedthe sensorthrough the front of the bumper and secure itin place with the white
retaining clip as modeled below.

Figure 4: Example of parking sensor installed (Ignore bracket in model, parking sensor will be mounted directly to the bumper)



=_RCIl OFFROAD_ X\

10) If installing a winch, the power steering radiator needs to be relocated.

11) Remove the two bolts securing the radiator.

A

oo e

e e S SR LIS

Figure 5:Remove the two M8 bolts securing the radiator

a. Flip the passenger side radiator mount.

Figure 6: Flip passenger side bracket

b. Install the provided relocation brackets as depicted below. Using the OEM hardware
and the 5/16” carriage bolts, 5/16” washers, and 5/16” locknut.



=_RCIl OFFROAD_ X\

Figure 7:Passenger side correct installation

Figure 8: Driver side correct installation

12)Before mounting the bumper to the vehicle, install any desired lights, winches, or fairleads.

13) If installing the bumper with an OEM front skid plate remove the frontmost bolts so the bumper
can be mounted above the skid plate.



=_RCIl OFFROAD_ X\

14) With the help of a friend, mount the bumper to the vehicle.

a. Align the slots on the bumper with the studs on the vehicle and reinstall the OEM nuts to
hold the bumper in place.
b. Don’tfully tighten the nuts.

Figure 9: Correct installation of bumper on mounting surface

15) Collectthe provided M12 bolts and 1/2” washers and install them in the lower threaded holes
where the OEM tow hooks were mounted.
a. Fully tighten these lower M12 bolts

l. If height adjustment is needed, add the provided full moon spacers between the
bottom of the bumper and the frame of the vehicle before installing the M12s.



=_RCIl OFFROAD_ X\

Full Moon Spacer

(Only install if
bumperneeds to
sit lower on the
vehicle)

16) With the lower mounts tight, fully tighten the 8 nuts mounting the bumper.
a. Tighten the front skid plate.



=_RCl OFF ROAD_X~\

Figure 10: Example of OEM skid installed with RCI front bumper

17) If applicable, plug in parking sensors.

18) Reinstall the truck’s grille to complete the installation.

Enjoy your new RCI protection!



=_RCIl OFFROAD_ X\

& “‘7"8 e .‘l’.'- "

Share your new install with us on social media!

We love seeing our products out in the wild!

www.rcimetalworks.com
sales@rcioffroad.com
970-797-3089

REV: 1 | 9/29/2022

Disclaimer: The products sold by RCI Metalworks are intended for off —road use only, should not be modified, and are for use only on the vehicle(s) specifically
stated. RCI Metalworks makes no warranties express or implied, including of fitness for a particular purpose or merchantability. RCI Metalworks will not be
liable for any damages arising out of the use or misuse of its products. It is the customers' responsibility to ensure the productsare safely and properly attached
to the vehicle, and all products should be installed by trained professionals. We strive to maintain extremely high quality standards; however, all RCI
Metalworks products are individually handcrafted, may vary slightly, and may contain minor imperfections. Due to the nature of raw aluminum, the material
may have minor scratches and other blemishes caused by the manufacturing process, especially on the back side of product. RCI Metalworks is constantly
seeking to improve its products and reserves the right to make changes to any product.


mailto:sales@rcioffroad.com

